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Example

1. Which of the following subshells is not

possible in an atom ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Z6X9wNob1ACP


A. 2p

B. 3f

C. 1s

D. 4d

Answer: B

Watch Video Solution

2. In which of the following, oxidation number

of chlorine is +5?

https://dl.doubtnut.com/l/_Z6X9wNob1ACP
https://dl.doubtnut.com/l/_c87ARIuds3BE


Watch Video Solution

3. The relationship between volume and

number of molecules of a gas at constant

temperature and pressure is known as ........

Watch Video Solution

4. When molten sodium chloride (NaCI) is

electrolysed, the gas liberated at the anode

is…………….

Watch Video Solution

https://dl.doubtnut.com/l/_c87ARIuds3BE
https://dl.doubtnut.com/l/_JJdv2y6zIodH
https://dl.doubtnut.com/l/_hNuSeMJ05jGR


5. Find the relation and fill up suitably 

Iron Haematite 

Aluminium: ………………...

Watch Video Solution

6. The molecular mass of water  is 18. 


Find the mass of 1GMM of  .

View Text Solution

(H2O)

H2O

https://dl.doubtnut.com/l/_hNuSeMJ05jGR
https://dl.doubtnut.com/l/_rR8NBfnl0Mpr
https://dl.doubtnut.com/l/_6GFOSxrcHbRX
https://dl.doubtnut.com/l/_hj6T67YdlkEt


7. The molecular mass of water  is 18. 


How many moles of molecules are there in

180g of  ?

Watch Video Solution

(H2O)

H2O

8. . Hematite is converted into iron by using

the blast fumace . 

Which are the substances fed into the blast

furnace along with the ore of iron ?

Watch Video Solution

https://dl.doubtnut.com/l/_hj6T67YdlkEt
https://dl.doubtnut.com/l/_1BYV17MLFCIZ


9. . Hematite is converted into iron by using

the blast fumace . 

Which compound acts as the reducing agent

in the blast furnace ?

Watch Video Solution

10.  and  are two different

chlorides of iron. [Hint : Atomic Number of

 


FeCl2 FeCl3

Fe = 26

https://dl.doubtnut.com/l/_g2vRVnJnBpOj
https://dl.doubtnut.com/l/_6E0UCoGqOUVC


Oxidation state of CI = (-1) 

Find the oxidations state of Fe in .

Watch Video Solution

FeCl2

11.  and  are two different

chlorides of iron. [Hint : Atomic Number of

 


Oxidation state of CI = (-1) 

Write down the subshell wise electronic

configuration of 

Watch Video Solution

FeCl2 FeCl3

Fe = 26

Fe
3 +

https://dl.doubtnut.com/l/_6E0UCoGqOUVC
https://dl.doubtnut.com/l/_mGBkoapwBL41


12. Which homologous series do the

hydrocarbons with general formula  , 

belong to? 

[alkane, alkene, alkyne]

Watch Video Solution

Cn H2n

13. Write down the structural formula of a

member of the same homologous series

having 3 carbon atoms .

Watch Video Solution

https://dl.doubtnut.com/l/_mGBkoapwBL41
https://dl.doubtnut.com/l/_To6sG4gk25LO
https://dl.doubtnut.com/l/_M70Fj3VCITLI


14. Soaps and detergents are cleansing agents.

Name the byproduct in the industrial

production of soap.

Watch Video Solution

15. Soaps and detergents are cleansing agents.

How does excessive use of detergents destroy

aquatic life ?

Watch Video Solution

https://dl.doubtnut.com/l/_M70Fj3VCITLI
https://dl.doubtnut.com/l/_kgCx3VtIlSfx
https://dl.doubtnut.com/l/_OmfBlU1PhfhT


16. Electroplating is one of the practical

utilities of electrolysis .Copper can be coated

on an iron bangle by this process. 

Which metal is connected to negative terminal

of the battery in this process ?

Watch Video Solution

17. Electroplating is one of the practical

utilities of electrolysis .Copper can be coated

https://dl.doubtnut.com/l/_OmfBlU1PhfhT
https://dl.doubtnut.com/l/_yGuQdhHTpIZ8
https://dl.doubtnut.com/l/_yssbC4Yz3XOP


on an iron bangle by this process. 

Which is the electrolyte used here ?

Watch Video Solution

18. Electroplating is one of the practical

utilities of electrolysis .Copper can be coated

on an iron bangle by this process. 

Write down any other practical utility of

electrolysis.

Watch Video Solution

https://dl.doubtnut.com/l/_yssbC4Yz3XOP
https://dl.doubtnut.com/l/_V7jpqpMjYqnR
https://dl.doubtnut.com/l/_82fqJfrehpyC


19. Which are the chemicals required for the

preparation of ammonia in the laboratory?

Watch Video Solution

20. Which is the drying agent used to remove

moisture from ammonia ?

Watch Video Solution

https://dl.doubtnut.com/l/_82fqJfrehpyC
https://dl.doubtnut.com/l/_0T874eJgWZsw


21. The gas jar used for collecting ammonia is

kept inverted .Why?

Watch Video Solution

22. The atomic number of element X is 12.

[Symbol is not real] 

Write the subshell wise electronic

configuration of X.

Watch Video Solution

https://dl.doubtnut.com/l/_kTjr5tJkhlMM
https://dl.doubtnut.com/l/_9P4yL8kO0iX3
https://dl.doubtnut.com/l/_TCQo5iY7mqRQ


23. The atomic number of element X is 12.

[Symbol is not real] 

Which period does this element belong to ?

Watch Video Solution

24. The atomic number of element X is 12.

[Symbol is not real] 

Which block does it belong to ?

Watch Video Solution

https://dl.doubtnut.com/l/_TCQo5iY7mqRQ
https://dl.doubtnut.com/l/_OHdnrUOjrIYf
https://dl.doubtnut.com/l/_qH0bHkyklnTh


25. The atomic number of element X is 12.

[Symbol is not real] 

Write down the molecular formula of the

chloride of X. 

[Hint Valency of CI=1]

Watch Video Solution

26.  


represents an important stage in the

Industrial Preparation of Sulphuric acid. 

2SO2 + O2 → 2SO3

https://dl.doubtnut.com/l/_qH0bHkyklnTh
https://dl.doubtnut.com/l/_cSwSfYjkG37c


By what name is the Industrial Preparation of

Sulphuric acid known as?

Watch Video Solution

27.  


represents an important stage in the

Industrial Preparation of Sulphuric acid. 

Which is the catalyst used in this process ?

Watch Video Solution

2SO2 + O2 → 2SO3

https://dl.doubtnut.com/l/_cSwSfYjkG37c
https://dl.doubtnut.com/l/_KHMK5sXDGfnU


28.  


represents an important stage in the

Industrial Preparation of Sulphuric acid. 

How do the following changes influence the

forward reaction ? 

i) More oxygen (  ) is added. 


ii) Pressure is decreased.

Watch Video Solution

2SO2 + O2 → 2SO3

O2

https://dl.doubtnut.com/l/_7id1JENyXb2t


29. The structural formula of an organic

compound is given below: 

 


Identify the functional group present in this

compound?

Watch Video Solution

CH3 − CH2 − O − CH3

30. The structural formula of an organic

compound is given below: 

 
CH3 − CH2 − O − CH3

https://dl.doubtnut.com/l/_0TgJ6PXVF81s
https://dl.doubtnut.com/l/_4ZmVDdfsjkeF


What are the compounds with the given

functional group commonly called ?

Watch Video Solution

31. The structural formula of an organic

compound is given below: 

 


Write down the structural formula of its

functional isomer and its IUPAC name.

Watch Video Solution

CH3 − CH2 − O − CH3

https://dl.doubtnut.com/l/_4ZmVDdfsjkeF
https://dl.doubtnut.com/l/_L0cSOF4i2DnY



